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Bridge

      With a Little Bit of Luck
The best that can be said for arriving at

an anti-percentage contract is that it fre-
quently presents declarer with a chal-
lenge during the play. That was the case
in this deal where South stretched his val-
ues somewhat to bid a shaky slam. How-
ever, he then justified his rosy assess-
ment by finding a way to bring in 12
tricks.

When dummy came down, prospects
were not too good. To begin with, there
was at least one trump loser, and on top
of that there was either a diamond or a
club loser, depending on what South dis-
carded on dummy’s third heart.

The slam was not hopeless, though,
since there were two legitimate chances
to make it. Accordingly, after winning
the heart lead in dummy, declarer led the
jack of spades and took East’s queen with
the ace as West followed low.

 Next came two more heart winners,
South discarding a club, followed by the
A-K of clubs and a club ruff, on which
West discarded a diamond. Had the clubs
divided 3-3 instead of 4-2, the slam
would have been in the bag at this point
since dummy’s fourth club would pro-
vide a parking place for South’s diamond
loser.

But even after the clubs failed to break,
the battle was not yet lost. South still had
one last chance, and so, with fingers
crossed, he exited with a trump in the
hope of finding West with both the king
of spades and king of diamonds.

The hope became a full-fledged real-
ity when West won the trump lead with
the king and was forced to return a dia-
mond or a heart, handing declarer the
slam.
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Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

Tod the Dinosaur • Patrick Roberts


